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QUESTION 1

Which of the following LDP message categories is UDP-based?
A. Notification

B. Session

C. Discovery

D. Advertisement

Correct Answer: C

QUESTION 2

Click on the exhibit.

Area Id : 0.0.0.0 Adv Router Id : 10.10.10.4
Link State Id : 0.0.0.2 (2)

LSA Type : ?

Segquence Ho : Dx80000001 Checksum : Oxb111

Age : 623 Length : 32

Options : ——R—-EV6 Ho of Adj Rtrs 2

Router Id (1) : 10.10.10.4 Fouter Id (2) : 10.10.10.2

What type of OSPFv3 LSA is shown?
A. Router LSA

B. Network LSA

C. Inter-Area Prefix LSA

D. Link LSA

Correct Answer: B

QUESTION 3
A service provider is deploying a 6over4 tunnel to connect a customer\\'s branch office IPv6 network to the corporate

headquarters as shown in the exhibit. Which command is used to create a default route on PE2 for the branch office
network?
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Q ©

2001:db8:1:101::/64 » 2001:db8:1:201:./64
« Q ‘l wz;PE1 Pvd MPE2 Pv
SR A e : (1 and |IPv4) (1 and |Pv4) e AR
2001:0b8:1:100:1/128 10.10.10.2 10.10.10.4 2001:0b8.1:200-:2/128

A. configure router static-route 0.0.0.0/0 indirect 10.10.10.2

B. configure router static-route 0.0.0.0/0 indirect 2001:DB8:1:100::1
C. configure router static-route ::/0 indirect 10.10.10.2

D. configure router static-route ::/0 indirect 2001:DB8:1:100::I

E. configure router static-route ::/0 indirect 2001:DB8:1:101::|

Correct Answer: C

QUESTION 4

When configuring an LSP for fast reroute one-to-one protection, which of the following statements is true?
A. The LSP can also use facility backup.

B. The LSP is limited to node protection.

C. You cannot request bandwidth on the protected LSP.

D. Node protection can be disabled.

Correct Answer: D

QUESTION 5

What is the purpose of service mirroring on the Alcatel-Lucent Service Router?

A. To mirror service requirements of a customer with a single branch office and multiple remote sites
B. To utilize unused ports of a service router until they are required for a service.

C. To replicate traffic from a service port to another port for debugging or monitoring functions

D. To ease the configuration burden of services that support a large number of subscribers

E. All of the above

Correct Answer: C
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QUESTION 6

Which of the following about configuring a distributed E-pipe service is TRUE ?

A. The VC ID on the mesh SDP must be explicitly configured.

B. The VC ID on the spoke SDP must be explicitly configured.

C. The VC ID on the mesh SDP does not have to be explicitly configured and it will use the service id.
D. The VC ID on the spoke SDP does not have to be explicitly configured and it will use the service id.

Correct Answer: B

QUESTION 7

A router has two admin groups defined (GREEN=1 and RED=3). An interface is associated to both admin groups. What
value will be shown in the Admin Group sub-TLV for this interface?

A. 0x4
B. Ox5
C. 0x10
D. Oxa

Correct Answer: D

QUESTION 8

What is the source IP address in an OSPF update?

A. 224.0.0.5

B. 224.0.0.6

C. The unicast IP address of the interface the update is being sent on.
D. The system address of the router

Correct Answer: C

QUESTION 9
Initially, all ports on an Alcatel-Lucent 7750 SR have 10Gbps bandwidth. RSVP configuration limits reservable

bandwidth to 30 percent on all interfaces. An LSP is signaled reserving 1 Gbps bandwidth. How much unreserved
bandwidth is left on the interface?
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A. 10 Gbps
B. 7 Gbps
C. 3 Gbps
D. 2 Gbps

Correct Answer: D

QUESTION 10

In an IP datagram, which of the following fields identifies the receiving application?
A. The protocol field of the transport layer header.

B. The port field of the transport layer header.

C. The protocol field of the network layer header.

D. The port field of the network layer address.

Correct Answer: B

QUESTION 11

On the Alcatel-Lucent 7750 SR, which one of the following steps is NOT required when enabling an MPBGP session
between PE routers in a VPRN?

A. Configuring an autonomous system number in the global context.
B. Configuring a BGP group and peer parameters.

C. Configuring a VPN-IPv4 address family.

D. Configuring an export policy to advertise routes between PEs.

Correct Answer: D

QUESTION 12

Click on the exhibit button below.
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192.168.1.0/27 ! EJ VRF Blue VRF Blue EJ 192.168,2.0127

AS 64496
- __Hr""_-, CE2 VPN Blue2
10.10.10.1/32 i m Transport tunnel [ ||| i 10.10.10.2/32
| ¥
| =1
PE1 PE2

If CE1 and PE1 use BGP to exchange routing information and CE2 and PE2 use static routing to forward traffic to and
from the VPRN, which of the following statements is considered TRUE?

A. An export policy is required on PE1 to advertise routes to CEL1.

B. An export policy is not required on PE2 to advertise routes to CE2.

C. An export policy is not required to advertise routes between PE routers
D. All of the above statements are true

E. All of the above statements are false

Correct Answer: D

QUESTION 13

What causes an adjacency to change from down to two ways?

A. When a link state update is received in response to a link state request.

B. When a router receives a Hello packet that contains its own router ID in the neighbor list from a neighbor.
C. When a router receives a database description packet from a neighbor.

D. When a link state acknowledgement is received in response to a link state update.

Correct Answer: B

QUESTION 14

Click the exhibit button.
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*A:R3rconfigzroutersospf# show router route-table
Route Table (Router: Base)

===z =z===z

Dest Prefix Type Proto Age Praf
hext Hopfinterface Name] Metric
D.J.'Jsﬁ.ﬁ.n;ﬂ' Remote OSPF OOROOMI3s 10
10.1.3:1 101

10.1,3.0/27 Local Local OS10h0Om O
toR] v

10,910,100, 37 32 Local Local Of44d0Bh O
syctam 1]

Mo, of Routes: 3

"A:R2# show routar route-table 192168 0.0/ 16 longer
Route Table (Router; Base)

Dest Prefix Type Proto Age Pref
Wext Hop[interface Mama) atric
192,168, 1.0/24 Local Local Othd9mdts o
laop1 0

192, 168,20/ 24 Local Local O1ho9mdts o
loop2 ¢]

192,168.3.0/24 Local Local ©1h09mdos o
loop3 Q

192, 16840724 Local Local o1ho9mdns ©
laopd ]

Mo, of Routes: £

Given the topology and the route-tables shown, which of the following is most likely to be the configuration on router
R1?
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A TAR1=config=router=ospf# info

areg 0000
interface "toR2"
interface-type point-to-point
exit
et
area 0.0.01
nssa
et
interface "toR3"
interface-type point-to-point
et
et

*AR1=config=router=ospf#

E. *AR1=config=router=ospf# info

area 0000
area-range 192 168 0.0/16 advertise
interface "toR2"
Interface-type point-to-point
enit
exit
area 0.0.01
interface "toR3"
interface-type point-to-point
exit
exit

A R1=config=router=ospf#
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C. TAR1=config=router=ospf# info

interface "tcR2"
interface-type point-to-poirt
exit
exit
area 0.00.1
area-range 192 168 .0 0/16 acvertise
Interface "tcR2"
Interface-type point-to-poirt
exit
et

"M R =config=routcr=ospf#

D, A R1=config=router=0spf# info

area 0000
intenface "tuR2"
Interface-type point-to-point
exit
exit
area 0.0.0.7
stub
HO SUTIHErigs
exit
Interface "toR3"
interface-type point-to-point
et
exit

AR =config=router=ospi#

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: D

QUESTION 15
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Which of the following are characteristics of a SDP? (Choose 2)

A. SDPs are a logical way to direct traffic from one router to another.
B. SDPs are a logical way to direct traffic between services.

C. SDP IDs are locally unique.

D. SDP IDs must be unique across the network.

E. SDPs are specific to one service type

F. SDPs must use MPLS for their encapsulation

Correct Answer: AC
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